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CHAPTERWISE IMPORTANT Aajustments Ot (ost

CoST SHEET

Q) Al the SPeCIA| DESIGNS. QlAGRAMS ., RENT of SPECIAL mje
SPECIAL SLOFTWRRE, ., MouLAZ ave DIRECT Expenses

NOEmMAL qre FACToRy OVERHEAAS

@ To Zdemhjy AOMIN OKR RELATEQ TO PROAVCTION -

° 217 Admin OH 1s bagzed on 7 ob— .OM/-OL/,QQ/FOH/angw;t
° i} Admin OH 15 8ww) lndnluc!\nu)o or Slnq\c in Adjustment.
° iy Ques Squs i 15 Adwmin Oit RTP-

o ib 2t is Administration ol Factory o Prodvehion Manadu's Sqlomr-

o Iy Adwin OH is given as Pee UNIT PROAUCER

For all oiher coges 3t s géN‘éRAI. Aamin Oveeneas

(3 To calelate F¢ amount -

[ J E) .
(Based en COP) Cost oy produchion X F¢ vaits
unzis Prodvced
e (Based on Cofb) : Cost o‘b- goodl Sold X F¢ vnits
undts Sold
B ﬂa Let's Solve Cost-FM-SM in AB's Way
of cascostrmsuous 3 - oEE JEE P
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@ To idemﬁw Scpap OF Bm
o J it is given a1 Zcrap oF MarernL Raw MarerinL

@ To idw{-?w Scpap OF F¢
° ik it s ﬂivm AL ScRAP OF Fe 0% Sceap of Leamer Curming.
° 4 it s given Qg SCRAP AURING PROAVCTION

(©) Hirect wages being 1357 of Factowy OH Weans
duages = Facory OR X 135

@ Bemy \larzable O calevlabonm -
108000 Puqmum UP)“ 50
addihovnal Y6309 jo'r 203/ INUeage O'rPart")-here,ob-

‘L wovh'na at 0-50/ fov vl year , cost = 102000

e 1} woﬂ-;na at 51).- Fo) b-ov b-u\l yeav ., cost = (08000 + 46800

I} wom’na at H7-- 90/ fov vl yeav, cost = (03000 + Y6300 + Y6300

oI} woﬂ.ina at qof. - teey. fov v\l yeav , cost = [oZevo + U¢Beo + Uegoo +
46800

L

Amownt gpent fov RecriFicaTion OF Lefective Proaucr is shown ag
quO'r]a OHe

@ Packaging cost fov ReAISTRIBUTION OF Fg is istribuhion O

Let's Solve Cost-FM-SM in AB's Way (Y +917903479393
o FASTCOSTFMSMbyAB (A)  FastcosTFmsmbyAR
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® SALARY To gENERAL MANAgER i5 Gemexral Admin Ol
e SALARY To SUPERVISOR s Fadmr ox

@ [Ncome Tax OF CoOMPANY 4? DONATION TO PM RELIEF FUND is NOT SHOWN
én cost Sheet

@ \NTeResT ExPenses Qre Showmn J’US{' dbove cCoct ob- Baoleg .

@ * [Nsveane OF &M 1S Shown in BM Covitumed.
® [NSURANCE OF Srock OF RM & Wip (s Fadm)a OR-

() Most (mPoRraNT &st AausTMeNT
e I} 1TC on GsT availeble - Dont add 1o purchage price oY
Hont less from purdaase price (ignore)

.Ib ITc on GST not available - Add 0 Pm purchaie Pprice

° Iy ITc qvcllgble and St . them deduct frem Rm purchase prie e
included 1n RM Coct 5t shovid net be added:

@ * Stores awnd Spares are FAcropy Ohs
° Caﬂe'o:]e Ovtwards is Geuz‘ng £ Qistrebvhion OH-

e +917903479393 Let’s Solve Cost-FM-SM in AB's Way
of oo 0 T




CA Amit Sharma é
(Yours_AmitBhai)

Oiret material cost 1n A is twice ac much ob divect material cost in B
and totoa? materad cost 1= Z 300000 - A unmibs prod = 40000. B 120900
€0 assume . direct materiad Cost pen umit of B=2

direct makeriad Cost pen umit of A * 2%

Totol materiod cost = Total Makexriast A + Tokd Maderiad B
800080 = Onits A X Rm/unit oA + Umits B x Rm/unit of B

20009 = Yoooo x2x. + [(29000Xx=

direct makeriad Cost pen vmit oy B=2 = 4
direct materiad Cost per umit of A 2% = 3

@ &st PAIS ON HIRING OF CARS vheans QSt oN Eaem + .znecel:]

Let's Solve Cost-FM-SM in AB's Way (Y +917903479393
G FASTCOSTFMSMbyAB (A)  FastcosTFmsmbyAR
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©)

MATERIAL COST

DISCOUNTS -
» (ash discount, - [qnore
* Bty /Trade Aismuwt/subsidp - dedut from purchase price

° NormAL Loss - Only Qucmtitr Svbstracted .
° ABNORMAL LO0ss .- Both Guanl-ily and Ruped-i\'e Cost is Substracted

To CALcULATE -
« CoMm Use RM Purchqscd,
* MAXImMUM /MINIMUM Srock Use RM consvmed

How To CALcuLATE ANNvAL ConsumeTion OF RM :-

l L |
Already details abovt F$ gsivem Average consvmp-
3’:""‘ Calwlate Fe produced then pu day /wu&/
Rmeons = Fg prod x Rvn/unit Month givw-
Bm ons X 3¢Sdays
or X S2 week

or X I2monihy

*Fg gold = 0fs F& + Fg prodveed - ¢s FG

*RMconsumed = Ofs Rm + Rmpurchased - ¢/s Rm
(Wb ofs and ¢/s of R not givem them Rm punhased = Bm consumed)

@ +91779O3479393 Let’s Solve Cost-FM-SM in AB's Way

G FASTCOSTFMSMbyAB
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@ WeiguTed Avernge - First Calewlate  weighted avg SP-

CQUCSQ U'\itSA X SPA + Uﬂi's’ A SPB

For STock out Ques :-

\hvmtovf .

at €0@ level (Ques 3 main book)

Zales demand 500000 X Stock
RMm A:g = 1% A Stowke
Rm A recluired, 4-k7.[um't' B Stoe

Zales = ofs F¢ + producion — C[sFg
500000 = 12000 + produckion - O
production = 500000 - 12000 = 483000

Let’s Solve Cost-FM-SM in AB's Way

unztsy + Uﬂi"SB

Them muH‘iPlY i with cqrr), cost pex vk’

Check what will be my loss Y I keep @ panhiculon level of

I Ques aske what is comtwoﬂu b-ov discoumt in E0Q baged ®veg -
Total Cost shov)d a.lwa\,s be equal to Ovr minimum cosk

2000 unirs
24000 Lmifs
52000 umbis

(Y +917903479393
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°Rm A reqvirec? > L[k?lowit

°RPm B required : Ytma A = lekg/onit
Total Cons A = YL8000 X & Total Cons B = Y8000 X 16
: 1952000 : 71802000

purchate A = Cons - Ofs Bm + c|skm
= Q52000 - 24000

= 1923000

purchage B = Cons - Ofs Bm + c|skm
= 780%000 - $2000

<= 7756000

(Ib ho{'h-inj is 3z‘wn Max Cong = A\g long = Mén Coms)

Consumptivn X = 2400900
Loss in Process = 4 /. o) purchaue -

pvrchase - loss = consuwption
X -Ulx = 240000

967- 2 = 240000

X = 240000 /qcy. = 350000kg
Purchcue, r Q50000 kg,

@ +917903479393 Let’s Solve Cost-FM-SM in AB's Way
of oo ST O T




®@ ® ©® @®

CA Amit Sharma é
(Yours_AmitBhai)

I}y Ques is abovt Perishagie Poons - (3-sdays e)epz'ry)
Compare max Stok  V/s Consuvmption of stk m 38 days

Step | - Calwlake maximum Stock by Using Jormula [g"" tRog — min x ::'&]

Sterz:— (alwlate RM Consumed m 3-S5 days [AV3 Rm Cons pwdaYXS'quw]
Step3:- lower o) Both i's Maximum Stock -

Carry cast petunit pen annum = Purchase Prece Rm X Interest /. pa
Always ROUND UP the no of ordns i-e [3‘| ovdey = 4‘°‘““']
Qebemtion Charges / Fa‘nes/ Pemaltses are NoT added to cost of BM-

Jdead Teme and Covuumrh‘on ¢hovld have Same base ie dqys or week

o FASTCOSTFMSMbyAB FASTCOSTFMSMbyAB
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©

&)

M 03T

wage RATE or LABOUR COST s calcvlated, fvom Compqny's p-ov &o
ALL THe AMOUNT PAID by the company (s (nclvded, -

[Ban'c + DA + Bonvs + Overtme + oumission + Perquisites + Ahowamce]
I+ imployu's contri to PF + imp\oyu's contyri to Insurance

GARN\NC"S 1s Calwlate d jrom workers P-0-V & net amount received in
hand 2's considered. [e.mploye.r's contr:i to PF & €SI a‘anored.]
[e.'mployee's contre to PF & €SI is Sobstmd:edJ

TotaL OverTiMe PAay = Nogmat Rate + Overtime Premiuw

To CONVERT TIME RATE - Prece Rate = [otal Cost pen Hoour

To Plece BRATE No oy umts (n 1 HY
as per stavdard

To CONVERT PleCE RATE - T2me Rate = Peice rate per unzt
To TIME RATE Slandard hwme per umit-

EFEECIWVE wnﬁe eate = Total payment to worker (inc.[vdine boms)l
Acdval Noure wWworked

Whale Calcula.tz‘ng Orainaey (JJA?E Rare overt:me is not included:

Q +917903479393 Let’s Solve Cost-FM-SM in AB's Way

B FASTCOSTEFMSMbyAB
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Ij Ques says -

Oventime s 3£vm gy a workex warks more than 9 Hovvs and f he
warks more than 9 Hours , Oventiwme Is considered after & Hours

First check - Has the worker worked 7 9 Hovrs

Sewnd - L Yes . ovenhme Hous = Adual Hours worked - & Hovrs.

@ Whemever Sowing the Questions ob- Holsey or Rowan . ALwAYS ANA THE
NoRrRMAL WAGES eoomed to the PBoNvus:

To calewwlate No ofy workers Replaced and No-of Fresh foinee [irst |l
all the vaccandes of; people lejt -

Let's Solve Cost-FM-SM in AB's Way (Y +917903479393
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HEA

@ When prepaning PRIMARY & SECONOARY QISTRIBUTION

lb. .am/-m./-be ob both Procl - wrste Am/auL/A)i- onlp of

and senvice dep} is gaven Senvite dept € hot prod dept
* |l am/ & )A€ aivw only of - wrzte Am/AL Jog - in productien
predvttion depantment dept enly
® |l am/ &)A€ givem only of - Wrzte AM /AL JAE in the serwice
Sewvice depantment dept amly

How to allocate POWER Cos| OF WACHINE -
. lb onlp HP (Hovse power) 9{\!«; * on te basis of HP enly.

° |y HP € MALHINE HRS given » on basis of (HP X mjc hrs)
*ly He £ LABove HRS givem : 0w basis o HP omlp
In Madhine Hour Rate . depriciation is lixed exp 3y given on

bagis o|7 VEARS . ib 2t is ﬂa'wm on e baars ob- Hovrs 2t is
Varv:able expense:

To calwlale Macking Hours pust Check . "How MANY HRS 418
M/e Ron ‘ [Tom! Hrs dvail - leave with pap - leave wjovtpay - Zdle h‘va

G +91779O3479393 Let’s Solve Cost-FM-SM in AB's Way

O
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@ |For UNQEe /OVER ABSORBTION  [Check from Qadap’s P-0-v]

Acval O/ (already given) Recovered on ( Planneq x Achval)
trs
Conly CY and novmal cosb) Planned Pale * Plaw cost/plan Hrs

yoo () Dadagi ()

@ MJc Hovr RATE - can be Calwlaked for I machine or more m)c
- ¢om be Calwlated for lyear, L month . | week
- J‘ust' remember to kcep SAME BAse

@ Rogot Basep Ques - [G-Pplp Veg Vs Non Vea amt.t.pt]
Common Expenses wzll be dzstributed to ALL THE DEPARTMENT.
Robot €xpenses distributed only to the QEPARTMENT USING ROBOT:

@$upmemsr\\raw RATE - Tetodl Overheads Underabsorbed
mts + F§ T WIPskne unik
Sold Stok eqvivalent

Units

InTeresT CosT 2% not included in Machine Houg RAate Calevlatzson:

@ MAinTENANCE TiME {’— SET-UP TIME IS p'foduc.h‘ve or not w:ll alwqy.s
be 3£vw in the quutz’on-

Let's Solve Cost-FM-SM in AB's Way (Y +917903479393
G FASTCOSTFMSMbyAB (A)  FastcosTFmsmbyAR
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Ac{'z'vii'x

Setup

Pac*qaéna

Customer

iﬂquiry

(Y +917903479393

G FASTCOSTFMSMbyAB

Acrivity Basea Cost

How 1o calewlate Activity Based Cosr

Cost Pool Cost driver No o drzver Rate
5.80.600 Set-up Hours 5600 leo
lo.80.600 Units Padtenl Lovo 1o60
3,060,600 No ob lnqw’ry 6% 560

Let’s Solve Cost-FM-SM in AB's Way

Yours_AmitBhai FASTCOSTFMSMbyAB
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Impact of CHAN&& IN SP/ONIT . VCJONIT . UNITS Sold ON SALES & COsT-

Ib- vnzts Sold c.hamge,, Vifunit - Total &ale ., Totas VC . Totak Contri ¥
£ SP/unit rexmain Same Total projpt Chanyu-

Ib- SPjunit chanJea and - On\)o Totat Bales amv(yq and Qlse
VeJumit & Units sold Q0eNT  Total Cowhi & Totat projit chamges
CHANGE Bur ToraL V¢ remaing Same-

Ib- viejonit ChGWJeA and. - On\f Tott VC d\avau and alse
SPJunit and units so|d Total Cowhi & Tohat pwjit chamges
DOESN'T CHANGE Bur TorAaL SALes remaing Same -

Total Fixed cost Total Fixed cost

1'], Ques Qtks to recovem

or
onlp Fc [Bep caiculate] Contrifunit PIV raho
I BGues atks to recoven = Total Prop:zt or __Total Propst:
only Projit [Mes calcwlate] contrifunit PV rakio
I} Ques asks to recovem = Tobal FC+ propit . Tekat Fc +propit:
FC & Profit both [desived Sale] Contrifunit PIv rano

Proaver Mix means WHICH PROAVCT te be produced and &n WHAT &TP.

Let's Solve Cost-FM-SM in AB's Way (Y +917903479393
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@ Ib. the Question Zs of key FAC.TOIZ/LIMITIN? FACTOR , +hem

-Shpl = (heck Which jad'or's AVAILABILITY < REQUIREMENT
Sth:- Caledlate Contribution per unat o each produce

Step3:-  (alevlate cowtributien per key factor [divide shep2 by key
Sto.pqz— Rank and produce Jactor per "“"t]

Iy Ques say to folpill some Mmimmum usage or demand Jyirst, them
b—irsl: b-olfll Hhat re,quirement"

@ I} Ques asks to chavge minimvm price -

Mwnimum PRice = Vaviable cost enlp + Any extra [rixed cost
incorved Speually Jov
that prorect -

(1} Ques asks to Chavge Prejit also . then Ad2a PRORIT Otherwise NOT)

@) Cast BReAk-even POINT = Tobad Fixed Cost - Deprzaation
Pvratio oF Contribuhenfunst

SHUT- DOWN PoINT = Total Fixed Cost — Cost to shut down
COnl;n'buh'&n/Unit

I cvrvent loss exceed costto &hutdown - close e busivess.

(Y +917903479393 Let's Solve Cost-FM-SM in AB's Way

B FASTCOSTFMSMbyAB (A FAsTCOSTFMSMbyAB
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@ Ifb the Buu Says there are two prodveks and we need to Calw]ate
Combived BEP ., we have to calerlate

weéghtcd ave/mge = Contr: per unil;‘x U'n;t'}‘ + Conty per unil'.x U'n;t'sa
Conl:rz'buhbw/um' t

unétsA + um‘fsg

Now divide Total F¢ b.)o wu'jhtfd avqg - conl:ﬁ/unit-

Let's Solve Cost-FM-SM in AB's Way (Y +917903479393
G FASTCOSTFMSMbyAB FASTCOSTFMSMbyAB
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D NormAL costT PeRUNIT - Total — Normal X SPoj Normal
Cost loss umits (0ss uvits

Total Units — Novmal (0ss uwmits

@ In statememt ob_ €quivalent Production , om Normal [oss workdone = O/
@In Statement ob_ €quivalent Production , ow Finished 3"45 workdone = (007

@ Ib— No derauls 8:‘.vm apovt Abnormal |oss , Abnormdgain , Closing Stock
then work done on them = 100 /-

S StaTeMent OF Eauivarent Prosvcrion

MATERIAL LABOUR OVERHEALS
. 7 €q' 7 €q 7/ €q’
unzts Complete uwnits Cov_v“glete units amP\ete uwnits

Normal Loss 100

Finished goods 2000 100/ 2009 leoy 2090 00/ 2000
Abnormal Loss 500 l00/-  $090 Soy- 250 $0)- 250
Closing wip (680 Joy- 3600 (1Y 560 204 200

@ When the Queshion 25 ob— FiFo Method :-

Check How many lowmplered onits Produced out ob' oPenina wip
and Check how much / work dove 2n corvemt yearjmr opunind wip.
work done in Curvemt Year = 1007 - 7-of ope:ninj wip given:

@ +917903479393 Let’s Solve Cost-FM-SM in AB's Way
0 G DT O T
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@ For units Lomplei:eol ovt of Fresh Inpub werk done = (00

@ | for we.r;yhi:ed average, ne need to do above process . for oomPldec!
Un:ts J\ul- apply work done = 1007

©) STATEMENT OF _COST
Factor Totalcost (@)  Equivalemt Units(b) Costpervnet (alb)
Materzal Totau cost
(-) 8ale of scrap
o) N Loss umits

x % % x X XX
labovr X X% xx xR
Overheads XXX X% xXx

Dﬁ onl)o 1 materted s 3e:vm. redvce &ale ob- .saaP O)' N-loss Mwl]o
jmm $hat material -

It 2. moteriad are givewm then. reduce Bale of scrap o) Nloss onlp

J‘rorn material | -

Ly any cost is related to finished awdx only (Packaga'ng,) , then
add it in Finshed Gotd ajc enly.

Let's Solve Cost-FM-SM in AB's Way Y ﬂ 7903479393
G FASTCOSTFMSMbyAB 4 FASTCOSTFMSMBYAB
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B vl ggr orRYy Com ROL

@) In Noema, LiFe = RM Purchase —> Fg Production —> Sale

In Budaetory Contro) .- &Ae — F¢ prodvckien — RM purchase

@) ofstock o) Fe + Production — c/stodk of F§ = Sale Units

o/stock Ob, RM + Production — c/stock o) RM = RM ¢onsumed.

Bale units = qlways 3£vw in Ques
RM onsumed = FG praduced X RMJunit*

Cument SP = 22000 , 3t Will (nurease by lo) iy Wholesale price index
increases bp S/ - WPL increases by 47

It means i WPL indease bysy or more we will inrease SP by loy
But since WPl inerease by 47-ouly go we canvot increase pantial-

oOally wcvu = 2350 qre linked to CPL: curremt CPI ts léS-13 peints and
it is e)tpecxed, te be 13359 pol‘nts m next year-

Here the Queshen doesnot [six limit-

Sice CPL has increased , wage rate will also increase-

New wage Rate = 850 X (1359 : & 893-33
(613

() ﬂ 7903479393 Let's Solve Cost-FM-SM in AB's Way

G FASTCOSTFMSMbyAB Yours_AmitBhai (A FASTCOSTFMSMbyAB
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(@) | Buagerory RATIOS -

o 81|'-|’dmc)o Ratio = Std Howrs required te Produce Actval Output
Acval Houvs taken to produie oviput

(D) l\.d-ivil')o Ratzo = Std Hours required te produce Actval Ovhput
Bud?-l'ed Roves Plammd ot Storf

(i) Calemder Ratio = Werking -ﬁqys or Hours Auvolly Availoble
Warking days ov Hours Budgeled at Stort

V) Standard Copacty = Working daws ov Hours Budgeled at stort
U$4‘7e Rakzo Maximum Hours possible iv givm period

V) Advual C"‘P“d']” s Adval Hovrs waerked Avring perfod
u,nge Ratzo Maximum Hovrs possible iv géven peniod

(Vi) Adual usege of = Advat HovYs woerked Avring perfod),
Buagnted cgpadi:f No'fl:ing Aaws ov Hours 8udgdu! at Stort

Let's Solve Cost-FM-SM in AB's Way (Y +917903479393
G FASTCOSTFMSMbyAB - (A)  FastcosTFmsmbyAR
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gR ST

@ for the Questions of Bus or Hotel - NO NEed to bifurcate the expenses
2nto  Fixed and Varzable -

@ Tyres and. Repair £ Maintenance are «lways SeM- VARIABLE

@ Impor{'ant- Bagze 2n Senvice C.o.sh’na =

T;/pe o Qves Base
qusmgw Bus Cost per passenger per km
1orry Cost per towne per km
Taxi Cost pen km
Robel cost per reom per day
Hospital Cost per bed per dap
Toi Road Cost per vehicle per km
Sdhoo Cost per Student
Ihsurance st per policy
Yookm
@  Statiemx - """ 7 T T T T~ Shtiemy
(100 toms) / (lZo fons)
rd
llsokw Stafiemz - -7 300kw
T~ (o tony)
ABsoLvre  TonNs lommepcialL TONNS
(00tov X Yoo kw <+ [20tonX 300 km (004120 +T0 s 3S0km = 3216}
+ Jotew X150 km = 8CS00 tons kwm 3 tow kwm

@ +917903479393 Let’s Solve Cost-FM-SM in AB's Way
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@ In aimost all Gueghions °b Bus or Teucr » there is Two -wAy JoupNEY
(Coming - 3«‘\(3 ovr tmwoard - Otr{:ulav&)

@ ONE TRIP means ONE RoONA TRIP (inward + ouhward)

() OccvpanCy = No-of seats ocwpied
Oy NOHm‘na T3 ﬂivem ) A4sUMe Occupqu = 1007

I} Ques Says theve are 20 Busez qnd 0w an avuaJe lo/. BuSes are dowp
for VQ.{)OiY - Hhon Calwilate evm)&hin‘j and ot the end Just solve

Pmportiwauy jov I3 buseg -

@ NO NEED TO CALWLATE EZQUIVALENT ROOMS -~ val: Solve u.cing "

Total Cost = £ 10.60.680
Normal Rooms 200 . JAeluxe Rooms 100
Price of deduxe Rooms = Hovble of Price o Normal Room

Price of Super detvxe Rooms = 2:5 fimes of price of Notmal Rooms

. Super Leluxe Rooms 4o

let price of Normat Roome =
price o Aeluxe Roome =22
price of S dedvxe Roomg = 2:Sa

Y 917903479 a
zi. FASTCOSTFMSMbyAB

Let’s Solve Cost-FM-SM in AB's Way
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Total Remt < (P"'Cc o Novmal room X No of Notmal reom) +
(P“.‘“’b Aeluxe rgom X NO of deluxe room) +
(P"‘"ﬁ o SAeluxergom X NO of S-delvxe room)

Zlo.00,000 = (Ax200) + (2ux109) + (25xX40)
S * Z10,00.600

price of Nermal Roome =2 = 2090
pﬂ’ce ob Aeluxe Boomg =24 = Yoeo
price o S deduxe Boomg = 2°Sx = Soep

Occvpam,«l d\m'ny Season T 8oy Ocevpanyy in oy seaton = 4oy,
ligﬂl\'ng chafgu z llo/rm except in Umonths o Winter Whee dmrJex : 30
Totod Rooms = 200 * Winter season 1s °W seasm

Jan Feb  Mar  Apr May June guloy Av Sept 0k Nov  dec
[

200 200 200 200 200 200 20 200 200 200 200
X X X X X X X X X X X X
o).  Uoy). o) o) &) &) &) &) &) &) o) U
X X X X X X X X X X X X
30 30 1o 1o 1o 1o 1o 1o 10 10 30 30

@ +917903479393 Let’s Solve Cost-FM-SM in AB's Way
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